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1. (10 points) You are considering to invest on Project A and/or Project B which have profitability

indices of 1.2 and 1.5 respectively. The cash increments of A over B has a profitability index of 0.8.
Assume you do not have a budget constraint.
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a) IfAandB are noﬁ mutually excluswe(you can pick A, B, or both) , which project(s)
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‘ ", b) IfA and B are mutually exclusive, which project(s) should you take on?
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2. (20 points) Your firm is considering a project gvith a five-year life an initial cost of $120,000. You
already spent $15,000 on market research before%ﬁct. The firm expects to sell 2,100
=, units per year at a price of $20 per unit. Market rate is 12%. The firm will have the option to abandon

(/ :/76, \  this project after three years at which time it expects it could sell the project for $50,000. At what

level of sales (quantity per year) should the firm be willing to abandon this project?
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(20 points) A 20-year bond with a $1,000 face value that is issued exactly two years ago just
distributed its second coupon. The current yield on this bond is 11.05%. What would be the capital
., gains yigld of this bond during the last year of its lifetime if thi:}erﬁet rate now and in the future 1S

12%?
" ‘0‘ (‘){)-nAJ \l‘f_(d - Y T (}n‘ ek ydd\
\Y

Q-\\) } .
N Yy T = o

Y

0.44% 234133
X _oousC D) *=ly. 6268 ' o >
s R e prel

70y ¥ u\:é'T

CA’V"\UD( COJFUV\ POJW“&
L pevbnt | UL ‘v 08 ""/CAHU L Yeos oé

p— > 6 ot~ el watnt

""‘" \ 3 A \0____00‘&\; \
;»L = 3 ) 7

y

x)

D coptel geim gelds

Y, ST} i

—g o0
ERE
4. (25 points) Default Bond Question: Consi&%r two bonds currently trading in the market, one by
company A and the other by company B. Assume that neither bond carries any risk other than the

default and interest-rate risk.

Company A: 1-year, x% coupon, $1,000 face value bond issued today with a default risk of 20% in which
case only half of all the promised payments are expected to be made.

Company B: 30-year, x% coupon, $1,000 face value bond issued exactly two years ago with two of its
~ coupons are already distributed, including the one distributed just today. E—

Market conditions: Average return you can get in the market is 10%. Investors expect a 0.5% higher yield

w(a total of 10.5% yield per year) to hold longer term bonds. I

a) If company A’s bond is sellirng for $900 today, how much would you pay for company B’s bond?
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d company A’s bond and immediately

b) If you purchased company B’s bond and your friend purchase
ield your friend is

learned th:;at company A would not default, what is the yield you are expecting and the y
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rs went up or down if the bond is selling

¢) Can you tell if the extra yield that is demanded by the investo
and the market rate is still at 10%?

for $900 tly a year later after the third coupon is distributed
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5. (15 points) Ozark Inc. has the following cost information on its new project.

Equipment: $700 (good for 5 years) =~ Dep~ (RS
Annual Fixed cost: $200 per year '
Per Unit Variable cost: $3 per unit

/ A Opportunity Cost(discount rate): 12%
% | Quantity that will be produced and sold (per year): 85

\/ Tax rate: 34%

a) What is the financial break-even price? P
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b) If the Ozark’s opportunity cost were to be 1% per month what would be the financial break-even price?
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6. (3 points) Is the following statement TRUE or FALSE? Explain with a few sentences:
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A longer term bond would be more open to inflation risk, reinvestment risk, as well as, lﬁzg_ciszuslc_
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7. (5 points) Is the following statement TRUE or FALSE? Explain with a few sentences:

its coupon rate, then the market rate should be lower than its
e

o

“ If the current yield of a bond is lower than
coupon rate.”
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